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Fsmnen NOOTER D000 555 ae |BLAToTY BLAgoTy
HETA & #(N) BHEN) BHEN)
BEHTREMN 1,319 897 0 0 68.0 68.0
el 1,319 897 0 0 68.0 68.0
b A RER 51 38 0 0 74.5 74.5
R HET 33 25 0 0 75.8 75.8
4 R ET 3 6 0 0 200.0 200.0
ZE@AF 7 4 0 0 57.1 57.1
A% 4 T 8 3 0 0 375 375
shRTER R 1,367 978 0 0 71.5 71.5
shETTH 842 622 0 0 73.9 73.9
2R 150 107 0 0 71.3 71.3
E)H 161 114 0 0 70.8 70.8
75 B EH 9 6 0 0 66.7 66.7
e iy ET 91 62 0 0 68.1 68.1
KESHT 25 12 0 0 48.0 48.0
HEEEH 39 22 0 0 56.4 56.4
Hr AJNET 50 33 0 0 66.0 66.0
I\FEH&REM 1,166 807 0 0 69.2 69.2
J\PTh 1,166 807 69.2 69.2
=R A RER 425 304 0 0 71.5 71.5
BULHEHT 204 139 0 0 68.1 68.1
= FH] 33 23 0 0 69.7 69.7
AFHT 48 38 0 0 79.2 79.2
HFHT 20 17 0 0 85.0 85.0
FE BRET 71 46 0 0 64.8 64.8
B _E BT 47 39 0 0 83.0 83.0
AT 2 2 0 0 100.0 100.0
AT )IRREFR 410 304 0 0 74.1 74.1
HFRIRET 202 146 0 0 72.3 72.3
DB 114 83 0 0 72.8 72.8
84 iR ET 13 14 0 0 107.7 107.7
R T 16 12 0 0 75.0 75.0
5 FH T 39 27 0 0 69.2 69.2
th ;R ET 26 22 0 0 84.6 84.6
E+=FEm 776 538 0 0 69.3 69.3
+FBAH 283 178 0 0 62.9 62.9
=R 222 166 0 0 74.8 74.8
87100 th BT 34 22 0 0 64.7 64.7
asy=1:]] 44 31 0 0 70.5 70.5
AVl 59 39 0 0 66.1 66.1
P 13 13 0 0 100.0 100.0
5di) 70 47 0 0 67.1 67.1
7Ny AT 51 42 0 0 82.4 82.4
ODOBREAT 262 190 0 0 72.5 72.5
G Y] 212 151 0 0 71.2 71.2
yNEilil) 27 19 0 0 70.4 70.4
BB 14 12 0 0 85.7 85.7
R EHM 2 1 0 0 50.0 50.0
{EH4 7 7 0 0 100.0 100.0
&t 5,776 4,056 0 0 70.2 70.2
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HETA & #(N) BHEN) BHEN)
BEHTREMN 1,717 1,241 0 0 72.3 72.3
el 1,717 1,241 0 0 72.3 72.3
b A RER 80 61 0 0 76.3 76.3
R HET 47 36 0 0 76.6 76.6
4 R ET 8 3 0 0 37.5 375
ZE@AF 11 10 0 0 90.9 90.9
A% 4 T 14 12 0 0 85.7 85.7
shRTER R 1,709 1,384 0 0 81.0 81.0
shETTH 1,046 858 0 0 82.0 82.0
2R 191 148 0 0 715 715
E)H 206 165 0 0 80.1 80.1
75 B EH 6 6 0 0 100.0 100.0
e iy ET 116 92 0 0 79.3 79.3
KESHT 35 26 0 0 74.3 74.3
HEEEH 37 28 0 0 75.7 75.7
R HNET 72 61 0 0 84.7 84.7
I\FEH&REM 1,490 1,150 0 0 77.2 77.2
J\PTh 1,490 1,150 0 0 77.2 77.2
=R A RER 566 403 0 0 71.2 71.2
BULHEHT 233 157 0 0 67.4 67.4
= FH 37 29 0 0 78.4 78.4
R FHT 78 49 0 0 62.8 62.8
HFHT 22 16 0 0 72.7 72.7
FE BRET 89 68 0 0 76.4 76.4
B _E BT 101 79 0 0 78.2 78.2
AT 6 5 0 0 83.3 83.3
AT )IRREFR 587 474 0 0 80.7 80.7
HFRIRET 291 239 0 0 82.1 82.1
DhSH 145 120 0 0 82.8 82.8
84 iR ET 25 18 0 0 72.0 72.0
R T 19 17 0 0 89.5 89.5
5 FH T 63 46 0 0 73.0 73.0
th ;R ET 44 34 0 0 77.3 77.3
E+=FEF 1,116 849 0 0 76.1 76.1
+FBAH 422 344 0 0 81.5 81.5
=R 298 209 0 0 70.1 70.1
87100 th BT 52 50 0 0 96.2 96.2
asy=1:]] 62 46 0 0 74.2 74.2
AVl 94 57 0 0 60.6 60.6
1 JECHT 18 13 0 0 72.2 72.2
5di) 106 83 0 0 78.3 78.3
7Ny AT 64 47 0 0 73.4 73.4
ODOBREAT 389 304 0 0 78.1 78.1
G Y] 317 239 0 0 75.4 75.4
yNEilil) 31 31 0 0 100.0 100.0
BB 29 23 0 0 79.3 79.3
R EHM 4 4 0 0 100.0 100.0
{EH4 8 7 0 0 87.5 87.5
&t 7,654 5,866 0 0 76.6 76.6




